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Geography Sample Paper - 3

Exam : CUET (UG)

Section II : Domain Subject
Subject : Geography

Time : 45 Minutes

Attempt any 40 questions, out of 50

Q.1: Griffith Taylor popularised which of the following ideas/concepts?
(a) Possibilism

(b) Determinism

(c) Neo-determinism

(d) Areal differentiation

Q.2: Which of the following is the sub-field of Social geography?
(a) Geography of Leisure

(b) Geography of Resources

(c) Geography of Tourism

(d) Geography of Agriculture

Q.3: What does areal differentiation implies?

(a) Elaborate description of region

(b) Exploration of new areas

(c) Identification of any uniqueness of any region
(d) Use of computers

Q.4: Which of these is a major cause of female migration in India?
(a) Education

(b) Marriage

(c) Movement Rate

(d) Searching for employment

Q.5: The ratio between the number of people to the size of land is known as ......... .
(a) population distribution

(b) population density

(c) population growth

(d) crude birth rate

Q.6: Which of the following countries is in the first stage of Demographic transition?
(a) Bangladesh

(b) India

(c) Peru

(d) Canada
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Q.7: The productive group of population covers people of which of the following age group?
(a) 0-15 years

(b) 16-64 years

(c) 15-59 years

(d) 60-65 years

Q.8: Which type of population pyramid shows a bell shape?
(a) Expanding population

(b) Constant population

(c) Declining population

(d) None of the above

Q.9: What does the high proportion of young population implies?
(a) Low birth rate

(b) High birth rate

(c) Low death rate

(d) High death rate

Q.10: The most important aspects of human lives are
(a) Access to health

(b) Access to education

(c) Access to Resources

(d) All of these

Q.11: Development of a few regions by individuals brought about in a short span of time leads to
(a) Malnutrition

(b) Poverty

(c) Ecological degradation

(d) All of these

Q.12: Which of the following is not a pillar of Human Development?
(a) Equity

(b) Productivity

(c) Equality

(d) Sustainability

Q.13: Plantation agriculture was developed by
(a) Europeans

(b) Asians

(c) Africans

(d) Americans

Q.14: Which of the following is not a characteristic of dairy farming practised in the world?
(a) Veterinary services

(b) Labour intensive

(c) Cattle breeding

(d) Practised near rural areas
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Q.15: Which of the following Tribes do not practice transhumance?
(a) Gujjars

(b) Bakarwals

(c) Gaddis (d) Bhils

Q.16: Which type of cotton textile industry is highly labour intensive?
(a) Powerloom

(b) Mills

(c¢) Handloom

(d) Both (a) and (c)

Q.17: When many industries are concentrated in a particular region to share factors of
production, it is termed as ................... .

(a) flexibility

(b) joint sector

(c) proffesionalisation

(d) agglomeration economies

Q.18: Dortmund, Dusseldorf and Essen industrial area is located in which European country?
(a) Spain

(b) France

(c) Germany

(d) Italy

Q.19: Which of the following will not be included under services?
(a) Financial banking

(b) Insurance

(¢) Rural market

(d) Housekeeping

Q.20: What does ‘KPO’ stands for?
(a) Knowledge Professional Outsource
(b) Knowledge Processing Outsource
(c) Knowledge Programmed Output
(d) None of the above

Q.21: Rohini satellite was launched in the year
(a) 1960
(b) 1980
(c) 2001
(d) 2010

Q.22: Which river supplies freshwater to the Suez canal?
(a) Amazon

(b) Nile

(c) Congo

(d) Murray
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Q.23: Which of the following is a member state of Latin American Integration Association
(LAIA)?

(a) Sweden

(b) Bolivia

(c) Hungary

(d) Belarus

Q.24: Which of the following is not a Entrepot Port?
(a) Copenhagen

(b) Rotterdam

(c) Singapore

(d) Dover

Q.25: The city of Canberra was planned by
(a) Daniel Burnham

(b) Walter Burley Griffin

(c) Louis Kahn

(d) Renzo Piano

Q.26: Arrange the following Mega cities in terms of their population (largest to smallest) and
choose the correct option.

1. London

2. Tokyo

3. Mumbai

4. Beijing

Codes

Q.27: Which of the following is associated to adolescent population?
(a) Lower age at marriage

(b) Illiteracy, particularly female illiteracy

(c) Low intake of nutrients

(d) All of the above

Q.28: What is the population density of Arunachal Pradesh as per census 2011?
(a) 47
(b) 38
(c) 17
(d) 12

Q.29: Which of the following regions acts as a magnet to pull emigrants from India?
(a) Middle East

(b) Western Europe

(c) America

(d) All of these
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Q.30: Which year onwards, the third wave of migration started in which doctors, engineers,
financial experts migrated to countries like Canada, UK and USA?

(a) 1960

(b) 1970

(c) 1975

(d) 1980

Q.31: India’s Human Development Index is released by which Organisation/Ministry?
(a) Planning Commission

(b) Ministry of Social Justice

(c) NITT Aayog

(d) Ministry of HRD

Q.32: What are the consequences of imbalanced development?
(a) Decline in social capabilities

(b) Decline in environmental capabilities

(c) Decline in personal capabilities

(d) All of the above

Q.33: Semi-clustered settlements are formed in India at which of these places?
(a) Bundelkhand region

(b) Gujarat plains

(c) Nagaland

(d) Himalayan slopes

Q.34: Which of the following factor is responsible for development of a compact settlement in
the Rajasthan region?

(a) High temperature

(b) Hot winds

(c) Water resources

(d) All of these

Q.35: Which one of the following is the main form of degradation in irrigated areas?
(a) Gully erosion

(b) Wind erosion

(c) Salinisation of soils

(d) Siltation of land

Q.36: Cucumber is a crop of
(a) Rabi season

(b) Kharif season

(c) Zaid season

(d) both (a) and (b)

Q.37: The Neeru-Meeru water harvesting programme was launched in ............. .
(a) Rajasthan

(b) Tamil Nadu

(c) Andhra Pradesh

(d) Haryana
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Q.38: The Central Pollution Control Board [CPCB] was established in the year
(a) 1970
(b) 1972
(c) 1974
(d) 1976

Q.39: Which one of the following minerals is known as brown diamond?
(a) Iron

(b) Lignite

(c) Manganese

(d) Mica

Q.40: Which of the following are sources of Non-convectional energy?
(a) Solar

(b) Wind

(c) Bio-energy

(d) All of these

Q.41: The Bokaro steel plant was setup with collaboration with which of these countries
(a) Germany

(b) UK

(c) France

(d) Russia

Q.42: The first Cotton Mill was setup in 1854 in which city?
(a) Surat

(b) Calcutta

(¢) Mumbai

(d) Madras

Q.43: Which one of the following is the most crucial factor for sustainable development in Indira
Gandhi Canal Command Area?

(a) Agricultural development

(b) Eco-development

(c) Transport development

(d) Colonisation of land

Q.44: Which of the following has been a negative effect of Indira Gandhi canal?
(a) Decreasing soil moisture

(b) Deforestation

(c) Water salinity

(d) All of the above

Q.45: The National Waterway II lies on which river in India?
(a) Ganga

(b) Yamuna

(c) Brahmaputra

(d) Chambal
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Q.46: Satellite data can be used for which of the following purposes?
(a) Weather forecasting

(b) Monitoring natural disasters

(c) Surveillance in strategic areas

(d) All of the above

Q.47: Which of the following is a satellite port of Chennai port?
(a) Kolkata port

(b) Haldia port

(c¢) Tuticorin port

(d) Paradwip port

Q.48: Which of the following ports have been arranged correctly from North to South?
(a) Kolkata, Paradwip, Visakhapatnam, Chennai
(b) Chennai, Kolkata, Paradwip, Visakhapatnam
(c) Kolkata, Chennai, Paradwip, Visakhapatnam
(d) Chennai, Paradwip, Visakhapatnam, Kolkata

Q.49: Which of the following wastelands have been primarily formed by natural agents?
(a) Barren rocky areas

(b) Desertic sands

(c) Steep sloping land

(d) All of these

Q.50: Push and pull factors are responsible for
(a) Migration

(b) Land degradation

(c) Slums

(d) Air pollution

Answer Key : CUET Geography Mock Test

I.(c) | 2.(@ | 3.(c) | 4.(b) | 5.(b) | 6.(@) | 7.(c) | 8 (b) | 9.(b) | 10.(d)

11.(d) | 12.(c) | 13.(a) | 14.(d) | 15.(d) | 16.(c) | 17.(d) | 18.(c) | 19. (c) | 20. (b)

21.(b) | 22.(b) | 23.(b) | 24.(d) | 25.(b) | 26.(b) | 27.(d) | 28.(c) | 29.(d) | 30. (a)

31.(c) | 32.(d) | 33.(b) | 34.(c) | 35.(c) | 36.(c) | 37.(c) | 38.(c) | 39.(b) | 40. (d)

41.(d) | 42.(c) | 43.(b) | 44.(c) | 45.(c) | 46.(d) | 47.(c) | 48.(a) | 49.(d) | 50. (a)
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